Student Exam No:
GANPAT UNIVERSITY
B. Tech. Semester - IIT (Computer Engineering/Information Technology)
Regular Examination December - 2013
2CE306/21T306: Database Management System- I

Time: 3 Hours] otal
Instructions: L 2
1. Figures to the right indicate full marks.
2. Attempt each section in a separate answer book.
3. Be precise and to the point in your answer. P
SECTION-1
Que-1 [A] Explain following relational Algebra operations with ekam 16]

1. Rename operation
2. Union operation.

[B] Discuss Aggregate functions and Grouping 1 tionald&lgebra. (61

0 »
Que-1 [A] Discuss Insert and Delete operation in REl al Algebra with example. (6]
[B] Explain Physical Characteristics of etic Disk. (6]
Que-2 (A] Define following with example i representation of each. [6]
Weak entity set, Partial key, C t attributes, Derived attribute,

[B] Explain GENE ﬁ ) ' % [5]

Que-2 [A] Explain redu win® E-R Representation in to Relational schema. [6]

1) Relati descriptive attribute. 2). Specialization.
[B] What is Sa@lar ion in SQL? Explain any four scalar functions with [5]
ex@ple.
Que-3 [A] DrawNe entation for given entity sets [8]
Customer : { €Cust_no, Cust_name{Cust_ﬁrstnamc,Cust_lastname},

t addigss, Cust_no}

oan_no, Cust_no, loan_date, loan_amt}

. { Payment_no, Payment_date, Payment_amt} [Payment is weak
set and Payment _no is partial key].

ote: Bold Font indicate primary key attribute]

Explain Natural- Join operation with example. [4]
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Section — 11

List and explain any four real time 5pplications which you have used, that

most likely used database system to store static or dynamic data.

Explain database languages.

Explain the three levels of data abstraction.

OR

4

Discuss various buffer replacement policies. \
6

Explain Data dictionary storage in detail.

L 4

Explain trivial and non-trivial Functional Dependency in ail.

Compute the closure of the following set F of functional de s for

the schema R = (A, B, C, D, E).

Describe lossy decomposition with example.

We have following relations:

BOOKS(Doc_ld, Title, Publ

has-wrifte

describes(

F={A—BC,CD—E,B—D,
OR

L 4

oW ueries in SQL. (any six)
s published by McGraw-Hill before 1990.

name of those authors who are living in Ahmedabad.

he name of students who are older than 30 and who are

4ot studying EC.
List the title of books written by the author 'Silberschatz'.

Find the name of the youngest student.

List the authors of the books the student 'Smith' has borrowed.

Find the name of author who has written maximum number of

books.
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